Mathematics

(Chapter - 2) (Linear Equations in One Variable) (Exercise 2.1)

(Class - VIII)
Question 1:
Solve the following: 3x = 2x + 18
Answer 1:
3x=2x+18
=> 3x—2x=18 —- x=1I8

To check: 3x=2x+18
= IXI8=2x18+18 — 54=36+18

= 54 =54 — LH.S. =R.HS.
Hence, it is correct.

Question 2:
Solve the following: 5t — 3 = 3t — 5
Answer 2:
St—3=3t-5
51 —3r =—5+3 =2 :>z—‘22—~—1

To check: 5tr—3=3r-5
=5%(-1)—-3=3%(-1)-5 =-53=35 |=-8=37§
=4 L.H.S. = R.H.S.

Hence, 1t 1s correct.

Question 3:
Solve the following: 5x + 9 = 5 + 3x

Answer 3:
Sx+9=5+3x
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A
v
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|
||
&

—>5x—3x=5-9 — 2x

To check: 5x+9=5+3x
:>5x(—2)+9=5+3><(—2) — —104+9=5-6 — -] =—1
— L.H.S. = R.H.S.

Hence, it 1s correct.

Question 4:
Solve the following: 4z + 3 = 6 + 2z

Answer 4.
4z +3=6+27

1

— 47 —-27z=6—-3 S5 27 =3 —5

I
B | W

To check: 4z4+3=6+27

A b B . 2%343=643 =5643=9

z 2
= 9=9 = L.H.S. = R.H.S.

Hence, it is correct.




Question 5:
Solve the following: 2x - 1 = 14 - x

Answer 5:
2x—1=14—x
15
—5 2x+x=14+1 —5 Ix=15 ::-.1”:? =5
To check: 2x—1=14—x
—3 2x5—-1=14-5 —10-1=9 —9=9
— L.H.S.= R.H.S.
Hence, it is correct.
Question 6:
Solve the following- 8x + 4 = 3 (x-1) + 7
Answer 6:
8x+4=3(x—1)+7
— Bx+4=3x—3+7 — 8x—3x=-3+7—-4 =5 A ye=()
5
To check:
8}{'+4=3(_r—1)+7
= 8x0+4=3(0-1)+7 =0+4=3x(-1)+7 —4=-3+7
) 4 =4 —LH.S.=RH.S.
Hence, it 1s correct.
Question 7:
4
Solve the following: x = g(x+ 10)
Answer 7:
x=i(x+ 10)
5
— S5x=4(x+10) = S5x=4x+40 — Sx—4x=40
—3 x=40
To check:
4
X =§(x+10)

= 40:§(40+10)

:>40=§><50 —40=4x%10

— 40 = 40
—L.H.S. = R.H.S.
Hence, it is correct.




Question 8:

Solve the following: —23—I~ +1= %+ 3
Answer 8:
Ef+1=Z£+3
3 15
LB oy A o T
£ 15 15 3
To check: E+1=E+3
3 15
2x10 7x10 20 14 20+3 14+9 23 23
=5 +1= +3i =>—4+1l=—+3 = — = —=—
3 15 3 3 3 3 3 3
—L.H.S. = R.H.S. Hence, it is correct.
Question 9:
. 5 26
Solve the following: 2y +§ =R y
Answer 9:
2*+§—2—6—v
y 33 -
26 26— 21
— 2y+y= 5 —3y= g —=>3y=—
3 3 3
- - 21 _Z
Y=3x3 3
5 26
To check: 2v+—=
YT373 y
7 5 26 7 14 5 26 7 14+5 26-7
— 2X—+—= =5 F— = — =
3 3 3 3 3 3 3 94 3 3
=5 Q = g —%L.H.S. = RH.5.
3 3
Hence, it 1s correct.
Question 10:
Solve the following: 3m =35m %
Answer 10:
3rfiz5m—§
5
:>3r11—5r11:;8~ :>—2m:——8 —>m = S :>Jn:i
5 5 5><(—2)
To check: 3m =5m 2
4 4 8 12 3 12 20-8 12 12
S IR= =R e —=>—= —>—=—
5 5 5 5 5 5 5 5 5
—L.H.S. = R.H.S.

Hence, it is correct.




Mathematics

(Chapter - 2) (Linear Equations in One Variable) (Exercise 2.2)

(Class - VIII)

Question 1:
x 1 x 1

Solve the following linear equation: ———=—+—
2 5 3 4
Answer 1:
x 1 x 1
O = = i
2 5 3 4
x x 1 1 3x—2x 5+4 x 9 Ox6 27
—2 = — +— = =L = S X= = —
2 3 4 5 6 20 6 20 20 10
To check:
X l_xl l
2 5 3 4

27 1 27 1 ai L 9 1 27T—-4 18+5 23 23

= el — =—+- = —H—=—
10x2 5 10x3 4 20 5 10 4 20 20 20 20
—% L.H.S.=R. H.S.
Therefore, it is correct.

Question 2:

Solve the following linear equation: ; 3; + 5: =21
Answer 2:
n 3ﬂ+5_ﬁ':21
2 4 6
:>6:1—9n+l()n:21 :>7_n:21 :>n:2]><12 136
12 12 Y/
To check:
7 3H+5_n:21
2 4 6
=5 3: 3><436=5x636=21 — 18—-27+30=21 =21=21

= L.H.S.=R. H. S.
Therefore, it is correct.

Question 3:

Solve the following linear equation: x+7 8; = ]67 5;
Answer 3:
8x 17 Sx
x+7——=
3 6 2
x 8 5x 17 7
= T
1 3 2 6 1
6x—16x+15x 17-42
. .
6 6
S5x 25
= —
6 6
—25x%6
—% Gl — X = _5

6x5




To check:

8x 17 5Sx
X+ ——=
3 6 2
8x (=5 5x(=5
L, 57 BB 1T xS, 40 173
3 6 2 3 6 2
6+40 17+75 46 92 46 46
3 6 3 6 3 3
— L.H.S. =R. H. S.
Therefore, it is correct.
Question 4:
Solve the following linear equation: Fd I;3
Answer 4:
x—=3 x=3
3 5
— Sx(x—5)=3(x—3) — 5x—25=3x—9
|
=% Sx—3x=-9+25 = 2x=16 ::>,r:?6:8
To check:
£—3 K3
3 N
— _8_5=_8_ =>§=§ =1 =1
3 5 5

— L.H.S.=R. H. S.
Therefore, it is correct.

Question 5:

3t—2 2H3—%—r

Solve the following linear equation:

4 3 3
Answer 5:
3t—-2 2H~3_3_lr
4 3 3
3r—=2 2t+43 s
=> +1=—
4 3 3
3(3r—2)—4(2t+3)+12t 2
— - —
12 3
Or—-6—-8r—12+12r 2
— —
12 3
13r—18 2
— = —
12 3
= 3x(13t—18)=2x12
= 30t —-54 =24 = 30r=24+54
— 307 =78 o rat




To check:

JI—a 2+3 —E—r

4 3 3
3x2—-2 2%x2+3 2 6-2 4+3 2-6
= — =——=-2 = = —
4 3 3 4 3 3
4 7 4 1 1 -4
=" ——— = > ———=—
4 3 3 1 3 3
3-7 —4 -4 -4
= ——=—s —— =
3 3 3 3
—% L.H.S. = R. H. S. Therefore, it is correct.

Question 6:

s T . -1 =7
Solve the following linear equation: m = =]__m

2 3

Answer 6:
m—1 1 m-—2
2 3

s E—m_]+m_2=1 :>61n—3(m—1)+2(m—2)_l
] 2 3 6

6m —3m +63 +2m—4 . 5 Smfj_ 1 =1 —> Sm—1=6

m

—

— 5!?1:6+1 :}Sjﬂ = 7 —S 1 = %

To check:

m—1 1 m—2
2 3

n

— LHS. =R . H: 5.
Therefore, it is correct.

Question 7:
Simplify and solve the following linear equation: 3(z—3)=5(2s+1)

Answer 7:
3(!—-3):5(2!+1)
— 3t—9=10r+5 = 3t—10r=5+9 = —Jt=14

14

e

— ! —=>t=-2

To check:
3(t—3)=5(2r+1)
= 3(2-3)=5{2x(-2)+1} =3x-5=5(4+1) =-15=5x(-3)

— —15=-15 —L.H.S.=R.H.S.
Therefore, it is correct.



Question 8:
Simplify and solve the following linear equation: 15(y—4)—-2(y—9)+5(y+6)=0

Answer 8.
15(y—4)—-2(y—9)+5(y+6)=0 = 15y—60—-2y+18+5y+30=0
12 2

To check:
15(y—4)—2(y—9)+5(y+6)=0

= 15(2—4)—2(2—9J+5[2 +6)=0 => ]5[2_]2) 2(2_27J+5(2+18)=0
3 3 3 . 3 3

-10 =23 20 50 100

=" 15 x 2X——+5%—=0 =>-50+—+ =)
3 3 3 3 3

— -50+50+3]000 — —50+1§0—~0

— —50+50=0 =0=0 — LHS.=R H.S.

Therefore, it is correct.

Question 9:
Simplify and solve the following linear equation: 3(5z—7)—2(9z—11)=4(8z—13)—17

Answer 9:

3(5z—-7)-2(9z-11)=4(8z-13)-17 =>15z—-21-18z+22=32z-52-17
—37+1=32z—690 =>—3z—-32z=—69—] 35:=-70 —>z= ‘;2 )
To check:

3(52—7)—2(9z—11)=4(8z—-13)—17 = 3(5x2—-7)—2(9%2—11)=4(8x2-13)—-17
= 3(10-7)—-2(18—11)=4(16—-13)-17 = 3x3-2x7=4x3-17

= 9-14=12-17 = -—5=-5 —L.H.S.=R. H.S.
Therefore, it is correct.

Question 10:
Simplify and solve the following linear equation: 0.25(4f —3)=0.05(10f —9)

Answer 10:
0.25(4f —3) =0.05(10f —9)

o 1.00f —0.75=0.50f —0.45 = 1.00f —0.50f =—-0.45+0.75
0.3
=% 0501 =03 — f = —= =06
/ / 0.50 /
To check:

0,25(4f —3) :0.05(10f—9)
=% 0.25(4><0.6—3) =0.05(10><O.6—9)
= 0.2‘5(2.4—3) = 0.05(6.0—9) = (.25 x(—0.6) =0.05 ><(—3)

— —0.150=-0.150
—© L.H.S.=R. H. S.
Therefore, it is correct.




